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Vெ  =  F × 𝑡ெ

V =  F × 𝑡ோ.௜

𝑡ோ.௜
ᇱ = 𝑡ோ.௜ - 𝑡ெ

𝑉ᇱ= V - 𝑉ெ
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𝜇 =  𝜇୑ ×  =  𝜇୑ ×
஼ಾ௏ಾ

஼ಾ௏ಾ ା ஼ೞ௏ೞ

VM:移動相の体積

VS:固定相の体積
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𝑡ோ  =  
୐

 ఓ
= ௅

ఓಾ
 1 + 𝑘 =  𝑡ெ(1 + 𝑘)

𝑉 = 𝐹 × 𝑡ோ  = 𝐹 × 𝑡ெ(1 + 𝑘) = 𝑉ெ(1 + 𝑘)

𝑉 = 𝑉ெ(1 + K
௏ೄ

௏ಾ
) = 𝑉ெ + 𝐾 𝑉ௌ

𝑉 − 𝑉ெ = 𝐾 𝑉ௌ

𝑉ᇱ = 𝐾 𝑉ௌ

𝑉ᇱ= V - 𝑉ெ

ᇱ
ௌ

V =  F × 𝑡ோ.௜

𝑉ᇱ= V - 𝑉ெ
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𝑡ோ  =  
୐

 ఓ
= ௅

ఓಾ
 1 + 𝑘 =  𝑡ெ(1 + 𝑘)

𝑘 =  
𝑡ோ  − 𝑡ெ

𝑡ெ
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𝑤 = 4𝜎

w଴.ହ௛ ௜ =  8 ln 2 𝜎

𝛼 =
௞మ

௞భ
 =  

௧ೃ.మ ି௧ಾ

௧ಾ
×

௧ಾ

௧ೃ.భି௧ಾ
= ௧ೃ.మ ି௧ಾ

௧ೃ.భି௧ಾ
= ௧ೃ.మ 

௧ೃ.భ

𝑡ோ.ଵ 𝑡ோ.ଶ

𝑡ெ

𝑡ோ.ଵ 𝑡ோ.ଶ 𝑡ோ.ଵ 𝑡ோ.ଶ
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𝑅 =  
௧మି௧భ

భ

మ
 (௪భା௪మ)

= 2 ×  
௧మି௧భ

௪భା௪మ

𝑡ଵ 𝑡ଶ

𝑤ଵ 𝑤ଶ

w଴.ହ௛ ௜ =  8 ln 2 𝜎 = 2.3546 𝜎

𝑅 = 1.177 ×  
௧మି௧భ

௪బ.ఱ೓ భା௪బ.ఱ೓ మ

𝑅 = 2 ×  
௧మି௧భ

௪భା௪మ
= 1

𝑤ଵ＝𝑤ଶ =w
𝑡ଶ − 𝑡ଵ = 1.0 × w

𝑤 = 4𝜎 𝑡ଶ − 𝑡ଵ = 1.0 × 4𝜎 = 4𝝈

4𝝈
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𝑅 = 2 ×  
௧మି௧భ

௪భା௪మ
= 1.5

𝑤ଵ＝𝑤ଶ =w
𝑡ଶ − 𝑡ଵ = 1.5 × w

𝑤 = 4𝜎 𝑡ଶ − 𝑡ଵ = 1.5 × 4𝜎 = 6𝝈

𝟔𝝈

w଴.ହ௛ ௜

𝒇

௪బ.ఱ೓
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w଴.ହ௛ ௜
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𝒇
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